. Mencione 4 razones por que estudiantes de otras ingenierias necesitan
aprender los fundamentos de la ingenieria eléctrica.
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3. Conun amperimetro mides la corriente que fluye por un cable y lees -5A.
;Qué significa el signo negativo? ;Cudnta carga fluye por una seccién
transversal del cable en 3 segundos?

J13dWRING 9
TIEIDVING . [

El negativo significa que los contactos se pusieron al reves

= AQ > AQ = A
At
SA)(25) =

AQ,=[5¢

\



FiGury P 2.5-1 .

P2.5-1 A current source and a voltage source are connected in parallel with a
resistor as shown in Figure P2.5-1. All of the elements connected in parallel
have

the same voltage, v.in this circuit. Suppose that v.=15V,i.=3 A, and R=5 ().
(a) Calculate the current i in the resistor and the power absorbed by the
resistor.

(b) Change the current source current to i-=5 A and recalculate the current, 1,
in

the resistor and the power absorbed by the resistor.

| K Ley de Ohm

fq .l: : Ve , 15V , P;\)\s'ﬁ féSVXBﬂB f;L}‘?W
. R

B, = kb)
3 “Ho " N

formula no cambia

kb i:lvs 15\/ -3 ) (PQ, 5V)(54’>/H§M[

—PVg :Vs (2{\3 C]S(L) =30W

Buscamos las potencias para las fuentes
y vemos que cambio




rigure I’ 2.5-2

P2.5-2 A current source and a voltage source are connected in series with a
resistor as shown in Figure P 2.5-2. All of the elements connected in series have
the same current, i., in this circuit. Suppose that v.=10V, i.=2A, and R =5 (.

(a)

Calculate the voltage v across the resistor and the power absorbed by the
resistor.

(b) Change the voltage source voltage to v-=5 V and recalculate the voltage, v,
across the resistor and the power absorbed by the resistor.

4) V= :LsR % {1“)(5)7/) z [0 ?(( ’;‘V’Ls ¢00\/)(6<A) 2 200

(PVS ;OGV)(M) 2 240
P, ¢ ( lovt /oV) (’&A) = 4ol
formula no cambia formula no cambia
5) 0 = ise z oV P,L:\u’,s - 20W
B 2 [50) (24) = 10V

B, = (5+i0) f2h) «-30w

Buscamos las potencias para las fuentes
y vemos que cambio
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Ficiume F2.7-7

P 2.7-7 Find the power|absorbed by the CCYS in Figure P 2.7-7.

Sustituir valores
de las corrientes \

entra por
el terminal positivo
- 14 = 1 5A
v ;
v ( =1\ 054 V4228V
| d‘) 054  £ai, 45
l— A

By, = .59)(1254) 4375w
as corecn o=

las que menos q 38
aparecen.



P2.34. The 9-V source in Figure P2.34 is delivering
27 W of power. All three resistors have the
same value K. Find the value of R.

1 |
O 8 &

l___ L

Figure P2LM

P 22i)
V-4V

P AW
b 5 =gy B A

Vo['llg/'es
4V =3R+415R =45R

Verificando usando
potencias da igual

Pofeng)as p=rR
1M 2GR +225R (2)
bq.5R

97 = 1381
25 I



*P2.47. Write equations and solve for the nods
shown n Figure P2.47. Then. find the

of iy.
NORE TN NG
L . L

Figure 247

V1=14.28YV, V2 =11.43V, i1 =0.285A



P2.62. Solve for the power delivered by the voltage
source in Figure P2.62, using the mesh-current
method.

D < (;oo)( Z'q,’m

1oV

i1 =-8.734A i2=3.847A i3 =-0.697A P100v = 1260W



